FHMRFE20224E R 7J<%Z“ & 3l A AP\ 3% 44 B

FE| 4 | HA L1 EHEARER BN AR S| KBRS XAk R G
1L | %% | 5 ARy —RIEZFH B jmk I 90. 82 XA EE 330.5
2 | R 5 HiL — Rz R = s 85.86 XA EE 339.5
3| B 3 Bk — B R = S 80.53 AR 65
4 | nrEm | 3B W& —RIEH B % e 80. 44 A = 265%

5 11— 3 AL —RIEZFH B H 42 Bk & 2.1 b E 323.5
6 RA % L7 i R H{Z R 66.25 XAk EE 248.5
NS ENN T —RiE D R H 200 21. 48 kg% 302.5
8 | ¥2% | 5 W& —RIEZFH B 4 200 22. 02 XA 263

9 | RE®R | & igas — Rz R £ 400 48.27 kg% 221.5
10 | ek | B a3 —RIEZFH B 4 400 48.93 b g% 245, 5
1| %R | % AL —RIEFH H4Z Ak 15.1 A= %65%

12 | REN | & Nipin Z B R H4Z 400 01: 01. 06| A= 265%

13 | #Aksy % EPR Z B R H 4% 100k 12.51 AR Z4.65%

U | T8 | % igas —REH R 42 100 12. 99 AR = %.65%

15 | K& L Nedea] —RIEFH H 400 49.97 A = %.65%

16 | Az | 53 ] — Rz R H{Z ke 2. 05 3

17 |2 % | 5 g —REH B H{Z Bk 6.67 A%

18 | FHEm | X W& —REFH H#Z i 41.21 — A4

19 | R4l | & HiIL — B R s 100§ 11. 00 — K%

20 | FRE| 5 a3 —RIEFH B H4Z 100k 11.10 — A%

20 | hERE| B W & —REH R 4z 100 11. 11 — A4

2 | BEE| & Naea] —RIEFH B H{E tHa 2160 A%

23 FA 3 L7 ZRiED R H1Z 100k 11.12 N

24 | FEE L e — B R H 4 100% 11. 20 N

| #Hw | B T — Rz R Hiz 100 11.27 — K%

26 | BAK | % ARy —RIEH B H{E e 2328 A%

2] | BREE | & Ik —REH 4z 400%  |01:01. 56 — K%

28 | FHER | & W& —REFH B 2 400%  |01:01. 84 — K%

29 | BHE % T Z B R H 4 800K 02: 23. 64 N

30 | HHEE | & EYN —RIEH 4 200 26. 41 A%

31 | ¥ | 5B W& —REFH HAE 400k 50. 28 A%

32 | w4 | X AR — B R H1z 200 26.79 — K%

B | hEE| B HiL ZRiED R 4z 400K A 57.93 — K%

34 | F# K| & ARy —RIEZFH R Wk | B mEKI00K| 92.5 AR 465%

35\ AER | & HT —RIEFH Ui ik {73k 100%K 92 AR = 465%

36 | kiEA | & )] —RIEZFH B i 3k EEIK100K 92 R = 4.65%

37 | AREX 5 Gk — Rz R ik 3K 100K 93.5 AR %65%

38 | EEHE | X i —RIEZFH R Wk | B mEk100K| 91.5 .y

39 | BEHE % HriL —RiEZ R Tk B H k100K 91 — KL

40 | ABIF K 3 L7 — Rz R Wik | RAK200K[ 92.5 R

41 | Be = AT —RIEFH Wik | B Bk100K| 94 b g E 399

42 | BiFHE | & g —RIEFH B Wik | B mak100K] 95 kg 413.5
43 | MM L Hi i —RiEZ R ik 3K 100K 96.5 XAk EE 453.5
4 | Exh | § il —RIEZFH i 3k BK100K 97 b g 408

45 | HEM | F W & —RIEZFH B R Bk T 95.9 kg 337

46 | EIE = anyii] —JEFR Rk W 90. 7 AR 65%

YEEES: L qF —RIEZFH xR T 90. 5 R = 4.65%

48 | 3 TE —RIEFH Rk ME 89.5 A= %65%

49 | B4R | B )] —RIEFH R Rk s 87. 6 A= %65%

S0 | T T | &8 W& —RIEFH s A% 87.3 A%

51 | Mg L ARy —RIEFH Rk Ja I 93. 3 R = 4.65%

52 | BRIRtE | B i —RIEZFH B 3k Ja 1L 90. 2 AR 65%

53 | rEK | & W& —RIEZFH s Ja I 87.7 R = 4.65%

54 | RFRE 3 W —RiE D R R )= 86 AR 65Y%

55 | kAP | B Nz —RIEZFH B R Bk I 88. 4 A%




